000/c do)/dm [1/GeV]
e -
L 5 ) 9 <

=

— 10°

Ratio to CMS
[N

0.5

7000 GeV pp Z+Jet
I§|_IIIIIIIII|IIIIIIIII|IIIIIIIII|IIIIIIIII|II_'%'%
— Jo
L Pruned Jet Mass(CA(0.8), 2300<p_<450, |y|<2.5) - 2
= =k
=3 =
— Jo
= -
— =m
— L :E
- ==
= 02
= . 3
- . 2z
= = m
— <

(90
= =
— HO
— —H ™M
= =T
= 3%
= =E
= m CMS m 35
E —4— Pythia 8.183 default EE
L =
= 50
- i ey
fl:l.l.!.!=l=l.l.l.l.l.l.l.l.l=I=l.l.lmllfg
— —2

A\‘\ 1
| —0.5

T T T TP T T T T TP T PR TR T TP L | I
0 50 100 150 200



	Contents
	Page 1


